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1|SSE 2.0 1.3 -0.9 -0.7 0.4 =21 91 29.0 * 38 136
2|s 1.1 0.8 -0.5 0.6 55 -1.2 85 6.0 * - 152
3|ESE 0.4 1.1 -0.2 0.0 20 -1.3 92 12.0 © 21 125 136 362 0.27
4|NW 2.6 24 -1.5 -0.5 2.1 -2.1 86 18.5 * 16 133
5|NE 0.4 0.7 0.1 0.3 34 -24 87 25 © - 136 144 397 0.28
6[S 0.2 1.0 -0.8 0.7 6.9 -4 81 20 ) 13 121 128 393 0.31
7|NW 1.2 0.8 0.5 0.8 3.2 -14 91 16.0 * - 124 135 410 0.30
8|NW 0.4 0.7 -1.2 0.3 6.2 -4.3 83 0.5 O 0 116
9[NW 0.6 0.8 0.8 20 8.4 -1.3 78 - © - 111
10|NW 0.8 1.0 1.3 1.8 7.9 -1.6 79 - O - 108 111 401 0.36
4 1.0 1.1 -0.2 05 46| -22 85 86.5 88 | 1262
11|ENE 0.3 1.0 0.5 0.3 5.3 -3.0 85 20 © 16 101
12|sw 0.2 1.5 -0.1 -0.2 24 -1.8 90 25.0 4.0 * 26 117 120 420 0.35
13]- 0.1 1.0 -1.0 -0.9 1.9 -2.5 87 12.0 * 9 133 137 436 0.32
14|SSE 3.2 1.1 -3.3 -1.2 1.8 -4.2 87 11.0 * 9 129
15|s 1.7 1.1 0.1 1.1 6.7 -3.0 75 0.5 O - 129
16|SSwW 0.6 1.6 2.7 25 5.6 0.1 86 20 © 3 119
17 |WNW 3.0 1.6 1.7 0.7 1.9 -1.0 83 12.5 * 14 116 118 453 0.38
18|ssw 0.9 1.0 -0.9 -1.2 0.4 -24 89 215 * 33 128 132 468 0.35
19]s 1.3 1.1 -2.0 -1.9 -0.3 -2.8 87 18.5 * 6 154 158 484 0.31
20[ssw 1.2 1.3 1.3 2.1 9.2 -2.6 72 - ) 6 148 153 493 0.32
k) 1.3 1.2 -0.1 0.1 35| -23 84 105.0 122 | 1274
21 |WNW 3.2 3.2 20.0 0.3 -2.0 1.0 -4.8 85 225 * 12 138 143 499 0.35
22|N 3.6 3.0 4.4 -3.6 -1.5 -5.1 78 15 * 15 145
23|SSE 1.4 1.1 -1.0 -0.3 3.2 -3.6 81 1.5 © - 155
24 INW 0.3 0.9 1.3 1.8 8.9 -2.6 65 - O - 139 140 509 0.36
25|sw 0.6 0.9 3.8 4.0 12.0 =21 64 32 12.0 O - 133 136 518 0.38
26 |SSE 1.4 1.5 4.0 4.7 8.5 -0.8 74 18.5 ) - 125 126 533 0.42
27|sw 1.1 0.8 2.2 1.9 7.2 -24 71 - ) - 120 119 483 0.41
28 |NW 0.5 1.1 4.0 5.8 15.6 -4.2 57 - O - 118 117 476 0.41
29
30
31
T4 15 1.6 1.3 15 69| -32 72 62.0 27| 1073
A 1.2 1.3 0.2 0.7 4.9 -2.5 81 253.5 237 | 3609
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